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T52WVZA
. SUMMATIVE ASSESSMENT -1, 2015-16
MATHEMATICS
Class - X
Time Allowed: 3 hours Maximum Marks: 90

General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each
and Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

SECTION-A
Question numbers 1 to 4 carry one mark each
L I AABC, DE||BC, find the value of x. 1
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N/ In a triangle ABC, write sin - 5 in terms of angle C.
p
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If (1+cosA) (1—cosA)= i find the value of sec A.
A In a frequency distribution, if a = assumed mean = 55 3f =100, h=10 and 1
i -Zfu,= —30, then find the mean of the distribution.
SECTION-B
Question numbers 5 to 10 carry two marks each. -
. O Use Euclid's division algorithm to find HCF of 65 and 175. 2
L6 Explain why the number 7X5 %3 X2+ 3 is not a prime number ? 2
N Solve the following pair of linear equations : 9x+8y=42;, 3x—2y=0 2
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State which of the two triangles

given in the figure are

perimeter of APQR.

page 2 0f 4

http://jsuniltutorial.weebly.com/

Submited by Visitor

similar. Also state the similarity 2
¢

criterion used.
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\_10~~ Givenbelowisa frequency distribution table showing daily income of 50 workers of a factory: 2
e e
Daily income of
| Workers (in%)
Nuamber of workers 5
Change this table to a Tess than type’ cumulative fre;:luency table.
SECTION-C
Question numbers 1110 20 carry three marks each.
1 Show that square of any positive integer s either of the form 3m or 3m -+ 1 for some integerm. 3
N A man has certain notes of denomination I 20 and T 5 which amount 0 3
% 380. If the number of notes of each kind are interchanged, they amount to X 60 less than .
before. Find the number of notes of each denomination.
13~ By division method check whether the polynomial > —2x is a factor of the polynomial o — 5y + G
Verify by division algorithm.
/M/ Solve for xand i : 3x+4y=13; 2x —3y=3 3
.15~ ABC is an isosceles triangle in which AB=AC and BC?=2AB%. Prove that ABC is a right 3
triangle.
% /3:6/ " Ifin AABC ~ APQR, BC=182 cm, QR =6.5 cm and perimeter of AABC =140 cm, then find the 3
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jl f2sinA:3cosA =3 4, then find the values of tan A, cosec A and cos A,
\\l&//’:i;rove the identity :
Ll e
cosecB +cot® sin@ sing cosec § — cot @
19 If the mean of the following distribution is 54, find the missing frequency x :
(==

Class 0-20 20-40

| Frequency

20 The amount of rainfall for 60 days is given in the following table :

0-10 }10~20 ’20——30

20 3 7

Find the median rainfall.

SECTION-D
-Question numbers 21 to 31 carry four marks each.

21" State Fundamental theorem of arithmetic.

Is it possible that HCF and LCM of two numbers be 24 and 540 respectively. Justify your

answer,

number of solutions :
(k—3) x+3y=k, kx+ky=12

find the zeroes of kx2+ 3kx+ 2.

[ 24 A NGO decided to distribute books and pencils to the students of a school running by some
.~ ‘other®izO. Tor this they collected some amount from different number of people. The total
amount collected is represented by 4x2+2°~8:2+3y—7 The amount is equally divided
between each of the students. The number of students, who received the amount is
represented by x — 2+ 2x2 After distribution, 5x —11, amount is left with the NGO which they
donated to school for their infrastructure. Find the amount received by each student from the

NGO.
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23, If one zero of the quadratic polynomial f (x) =422 — 8kx +8x 9 is niegative of the other, then
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_What value have been depicted here ?

Prove that if a line is drawn parallel to one side of triangle to intersect the other two sides in
distinct points the other two sides are divided in the same ratio.

L
@ Vertical angles of two isosceles triangles are equal. If their areas are in the ratio 16 : 25, then
find the ratio of their altitudes drawn from vertex to the opposite side:

; 1
<~ IfsinfA+B}=1and tan(A—B) = ——, find the vaiue of :
5 { ) ( ) B

(i) tanA + cotB (i} secA — cosecB.
28~ IftanA +sinA = m and tanA —sinA = n, then prove that (m2—n2)2 = 16 mn.
. ;
2895 Prove that :
i

(1+cot28).(1 +cosB).(1 — cosB) = (1 +tan28).(1 + sinB)(1 — sinB) =1

@/ The following table gives the daily income of 50 workers of a factdry. Draw both types (“less
than type” and “greater than type”) ogives

Daily income (in3¥) | 100—120 | 120—140 | 140—160 | 160 —180 ] 180 — 200

Number of workers | 12 14 8 6 10

A1 Find the mode of the following frequency distribution

Class interval | f
25-35 7
35-45 e
| 45-55 33
| 55-65 17
565-75 11
| 75-85 1
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